
SAP ABAP table JKVWMAT {Generated Table for View}

JKVWMAT

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

ETENR [NUMC (4)]

PROMNR [NUMC (3)]

MATNRWERB [CHAR (18)]

GPNR [CHAR (10)]

VPFLZEINHV [UNIT (3)]

WERBEART [CHAR (4)]

WERBEAKT [CHAR (8)]

MINDBEZEIN [UNIT (3)]

POSNR_BASE [NUMC (6)]

CYCLENR_BASE [NUMC (3)]

POART [CHAR (2)]

DRERZ [CHAR (8)]

PVA [CHAR (8)]

BEZPER [CHAR (5)]

ETMEINS [UNIT (3)]

GPAG [CHAR (10)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

JDTDRER

MANDT [CLNT (3)]

DRERZ [CHAR (8)]

 JKVWMAT-DRERZ = JDTDRER-DRERZ 

0..N

{0,1}

JDTPVA

MANDT [CLNT (3)]

DRERZ [CHAR (8)]

PVA [CHAR (8)]

 JKVWMAT-PVA = JDTPVA-PVA 

0..N

{0,1}

JGTGPNR

MANDT [CLNT (3)]

GPNR [CHAR (10)]

 JKVWMAT-GPAG = JGTGPNR-GPNR 

0..N

1

 JKVWMAT-GPNR = JGTGPNR-GPNR 0..N

1

JKACCOUNT

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR_UR [NUMC (6)]

CYCLENR [NUMC (3)]

 JKVWMAT-CYCLENR_BASE = JKACCOUNT-CYCLENR 
0..N

{0,1}

JKAK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 JKVWMAT-VBELN = JKAK-VBELN 
0..N

1

JKAP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 JKVWMAT-POSNR = JKAP-POSNR 

0..N

1

 JKVWMAT-POSNR_BASE = JKAP-POSNR 0..N

1

JKPROM

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

PROMNR [NUMC (3)]

 JKVWMAT-PROMNR = JKPROM-PROMNR 0..N

1
T000

MANDT [CLNT (3)]
 JKVWMAT-MANDT = T000-MANDT 

0..N1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 JKVWMAT-ETMEINS = T006-MSEHI 

0..N

{0,1}

 JKVWMAT-MINDBEZEIN = T006-MSEHI 

0..N

{0,1}

 JKVWMAT-VPFLZEINHV = T006-MSEHI 0..N{0,1}

TJAP

MANDT [CLNT (3)]

POART [CHAR (2)]

 JKVWMAT-POART = TJAP-POART 

0..N

1

TJD09

MANDT [CLNT (3)]

BEZPER [CHAR (5)]

 JKVWMAT-BEZPER = TJD09-BEZPER 

0..N

1

TJWAK

MANDT [CLNT (3)]

WERBEAKT [CHAR (8)]

 JKVWMAT-WERBEAKT = TJWAK-WERBEAKT 

0..N

{0,1}

TJWAR

MANDT [CLNT (3)]

WERBEART [CHAR (4)]

 JKVWMAT-WERBEART = TJWAR-WERBEART 

0..N

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 JKVWMAT-VKORG = TVKO-VKORG 

0..N

1

TVKOV

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

 JKVWMAT-VTWEG = TVKOV-VTWEG 

0..N

1

TVTA

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

 JKVWMAT-SPART = TVTA-SPART 

0..N

1


